## **DECATUR BOULEVARD / GRAND TETON DRIVE** BID ABSTRACT CITY OF NORTH LAS VEGAS TRAFFIC SIGNAL IMPROVEMENTS CIP. NO. 10507

BID NO. 1608 - LABOR COMMISSION NO. PWP CL-2020- 473 **BID DATE: MARCH 31, 2021** 

| \$845,221.76 F    | #E0:10       | \$844,999.00          |              | \$694,519.00 B   | \$£3.00      | \$537,020.00        | \$Z.00           | 5          | [        |  |
|-------------------|--------------|-----------------------|--------------|------------------|--------------|---------------------|------------------|------------|----------|--|
| \$601.00          | 02.070       | \$854.00<br>00:1:1:00 | \$21.80      | 0.000            | \$20.00      | \$750.00            | \$25.00<br>00:00 | 700        | 30       |  |
| \$1 207 50        | \$40.25      | \$1 272 00            | \$42 40      | \$2 070 00       | \$69.00      | \$3 000 00          | \$130.00         | DAY        | 30       | 670 04 GPS SPEED FEEDBACK SIGN   |
| \$517.50          | \$17.25      | \$546.00              | \$18.20      | \$1,050.00       | \$35.00      | \$900.00            | \$30.00          | DAY        | 30       | 670.03 GPS LOCATED  TRAFFIC CONTROL DEVICE   |
| \$1,656.00        | \$55.20      | \$1,746.00            | \$58.20      | \$1,230.00       | \$41.00      | \$2,250.00          | \$75.00          | DAY        | 30       | 670.02 GPS ARROW BOARD   |
| \$2,656.50        | \$88.55      | \$2,796.00            | \$93.20      | \$2,250.00       | \$75.00      | \$2,550.00          | \$85.00          | DAY        | 30       | 670.01 PTZ CAMERA  |
| \$2,300.00        | \$2,300.00   | \$1,285.00            | \$1,285.00   | \$1,800.00       | \$1,800.00   | \$5,000.00          | \$5,000.00       | rs r       | <u> </u> | 637.02 STORM WATER POLLUTION CONTROL   |
| \$1,531.40        | \$4.03       | \$1,615.00            | \$4.25       | \$1,520.00       | \$4.00       | \$1,520.00          | \$4.00           | EA         | 380      | _  |
| \$1,007.50 E      | \$4.03       | \$1,062.50            | \$4.25       | \$1,000.00       | \$4.00       | \$1,500.00          | \$6.00           | ΕA         | 250      | MARKER NOTE TO THE TOTAL TO THE TOTAL TOTA |
| \$2,201.42        | φ1,140./1    | \$3,430.00            | \$Z,713.00   | \$2,400.00       | \$1,240.00   | \$2,400.00          | \$1,200.00       | 7          | 7        | BEELECTIVE BAISED BAVEMENT   |
| \$2 281 <i>42</i> | \$1 140 71   | \$5 430 00            | \$ C         |                  | \$1 240 00   | \$2 400 00          | \$1 200 00       | FΔ         | S        | _  |
| \$207.00          | \$3.45       | \$219.00              | \$3.65       | \$207.00         | \$3.45       | \$300.00            | \$5.00           | SF         | 60       | 628.05 MEDIAN NOSE MARKINGS  |
| \$1,224.00        | \$1.44       | \$1,275.00            | \$1.50       | \$1,232.50       | \$1.45       | \$2,550.00          | \$3.00           | ᄕ          | 850      | 628.04 POLYUREA PAVEMENT MARKINGS  |
| \$1,092.50        | \$109.25     | \$1,150.00            | \$115.00     | \$1,100.00       | \$110.00     | \$2,250.00          | \$225.00         | ΕA         | 10       | 628.03 PERMANENT PAVEMENT MARKING FILM (ARROW)   |
| \$6,830.50        | \$7.19       | \$7,220.00            | \$7.60       | \$6,840.00       | \$7.20       | \$9,500.00          | \$10.00          | ŞF         | 950      | 628.02 PERMANENT PAVEMENT MARKING FILM   |
| \$18,694.00 D     | \$14.38      | \$19,695.00           | \$15.15      | \$18,850.00      | \$14.50      | \$15,600.00         | \$12.00          | Ħ          | 1,300    | 628.01 PERMANENT PAVEMENT MARKING FILM   |
| \$335,980.00      | \$335,980.00 | \$355,155.00          | \$355,155.00 | \$301,315.00     | \$301,315.00 | \$250,000.00        | \$250,000.00     | LS         | 1        | 623.01 TRAFFIC SIGNAL  |
| \$7,857.00        | \$8.73       | \$17,910.00           | \$19.90      | \$10,800.00      | \$12.00      | \$9,000.00          | \$10.00          | 앆 다        | 900      | 613.02 A TIFE CORD   |
| \$4,806.40        | \$30.04      | \$6,784.00            | \$42.40      | \$6,400.00       | \$40.00      |                     | \$45.00          | ī F        | 160      |  |
| \$61,398.00       | \$7.58       | \$59,940.00           | \$7.40       | \$57,105.00      | \$7.05       | \$48,600.00         | \$6.00           | SY         | 8,100    |  |
| \$2,570.25        | \$102.81     | \$850.00              | \$34.00      | \$825.00         | \$33.00      | \$875.00            | \$35.00          | SY         | 25       | 402.02 PLANTMIX BITUMINOUS SURFACE (2-INCH)  |
| \$24,685.00       | \$49.37      | \$33,900.00           | \$67.80      | \$32,500.00      | \$65.00      | \$20,000.00         | \$40.00          | ΥS         | 500      |  |
| \$13,315.50       | \$48.42      | \$61,600.00           | \$224.00     | \$58,575.00      | \$213.00     | \$12,375.00         | \$45.00          | СА         | 275      | 302.01 TYPE II AGGREGATE BASE  |
| \$1,882.50        | \$3,508.00   | \$1,650.00            | \$3,690.00   | \$2,437.50       | \$3,510.00   | \$1,500.00          | \$2,000.00       | SF         | 750      | 212.01 LANDSCAPE ROCK  |
| \$664.23          | \$31.63      | \$693.00              | \$33.00      | \$672.00         | \$32.00      | \$1,575.00          | \$75.00          | EA         | 21       |  |
| \$726.25          | \$29.05      | \$890.00              | \$35.60      | \$5,750.00       | \$230.00     | \$750.00            | \$30.00          | SF         | 25       | 202.05 REMOVE CONCRETE BARRIER RAIL  |
| \$484.05 C        | \$32.27      | \$264.00              | \$17.60      | \$780.00         | \$52.00      | \$375.00            | \$25.00          | 듞!         | 15       |  |
| \$1,302.00        | \$18.55      | \$1 760 00            | \$17.85      | \$3,120.00       | \$10.40      | \$900.00            | \$3.00           | - <u>(</u> | 100      | 202.02 REMOVE CUNCRETE SIDEWALK  |
| \$6,204.00        | \$11.28      | \$11,990.00           | \$21.80      | \$11,000.00      | \$20.00      | \$8,250.00          | \$15.00          | SY         | 550      |  |
| \$189,574.00      | \$189,574.00 | \$128,600.00          | \$128,600.00 | \$45,175.00      | \$45,175.00  | \$30,000.00         | \$30,000.00      | LS         |          | 200.01 MOBILIZATION  |
| \$700.00          | \$1.40       | \$700.00              | \$1.40       | \$700.00         | \$1.40       | \$700.00            | \$1.40           | 퓼          | 500      | 110.01 TRAINING  |
| \$50,000.00       | \$50,000.00  | \$50,000.00           | \$50,000.00  | \$50,000.00      | \$50,000.00  | \$50,000.00         | \$50,000.00      | SJ         | 1        |  |
| \$2,000.00        | \$2,000.00   | \$2,000.00            | \$2,000.00   | \$2,000.00       | \$2,000.00   | \$2,000.00          | \$2,000.00       | ST         |          |  |
| \$18,400.00       | \$18,400.00  | \$7,335.00            | \$7,335.00   | \$7,475.00       | \$7,475.00   | \$5,000.00          | \$5,000.00       | LS         |          | _  |
| \$53,820.00       | \$53,820.00  | \$42,510.00           | \$42,510.00  | \$34,155.00      | \$34,155.00  | \$20,000.00         | \$20,000.00      | LS         |          | 104.01 TRAFFIC CONTROL   |
| TOTAL PRICE       | BICE         | TOTAL PRICE           | DBICE        | TOTAL PRICE      | UNIT PRICE   | TOTAL PRICE         | UNIT PRICE       | TINU       | γΤρ      | ITEM DESCRIPTION   |
| CG&B ENTERPRISES  | ССВВ         | LAS VEGAS ELECTRIC    | LAS VEG      | Mc4 CONSTRUCTION | Mc4 CON      | ENGINEER'S ESTIMATE | ENGINEER'        |            |          |  |

#### **DECATUR BOULEVARD / GRAND TETON DRIVE** TRAFFIC SIGNAL IMPROVEMENTS CITY OF NORTH LAS VEGAS BID ABSTRACT CIP. NO. 10507

BID NO. 1608 - LABOR COMMISSION NO. PWP CL-2020- 473 **BID DATE: MARCH 31, 2021** 

|                                | ENGINEER'S ESTIMATE | Mc4 CONSTRUCTION                  | LAS VEGAS ELECTRIC  | CG&B ENTERPRISES               |
|--------------------------------|---------------------|-----------------------------------|---|--------------------------------|
| Subcontractors: All Other Work | All Other Work      | Mc4 Construction                  | Las Vegas Electric  | _                              |
|                                | Concrete            | Aggregate Industries              | Las Vegas Paving  |                                |
|                                | Slurry Seal         | American Pavment Preservation     | American Pavement Preservation American Pavement Preservation | ation /                        |
|                                | Striping            |                                   | Highway Striping & Signs                                      |                                |
|                                | Traffic Signal      |                                   |   |                                |
|                                | Traffic Control     |                                   | Superior Traffic Services                                     |                                |
|                                | Asphalt             |                                   | Aggregate Industries  | American Pavement Preservation |
|                                | ac                  |                                   | Aztech Inspections & Testing                                  | ng                             |
|                                | Surveying           |                                   | Jemison Surveying   |                                |
|                                | Work Zone ITS       |                                   | Triton Traffic Technologies                                   | 0,                             |
|                                | Electrical          |                                   |   | Mc4 Construction               |
|                                | Underground         |                                   |   |                                |
|                                |                     |                                   |   |                                |
| Suppliers: Concrete            | Concrete            | Sierra Ready Mix/Nevada Ready Mix |   | Nevada Ready Mix               |
|                                | Asphalt             | Aggregate Industries              |   | Aggregate Industries           |
|                                | Poles and Fixtures  | Ferguson Waterworks               | Ferguson Waterworks   |                                |
|                                | Signal Gear         |                                   | Southwest Traffic Systems                                     | 0,                             |
|                                | Striping            |                                   |   |                                |
|                                | Slurry              |                                   |   |                                |
|                                |                     |                                   |   |                                |

A: Item 630.01: Bidder submitted a total price of \$4,960, the correct amount is \$2,480.

B: Total Base Bid: Bidder submitted a total base bid of \$696,999, the correct amount is \$694,519.

C: Item 202.04: Bidder submitted a bid amount of \$485.22, the correct amount is \$484.05.

D: Item 628.01: Bidder submitted a bid amount of \$18,681, the correct amount is \$18,694.

E: Item 630.01: Bidder submitted a total price of \$4,562.84, the correct amount is \$2,281.42.

F: Total Base Bid: Bidder submitted a total base bid of \$847,491.35, the correct amount is \$844,11.16.

G: Item 630.01: Bidder submitted a total price of \$8,822.32, the correct amount is \$4,411.16.

H: Total Base Bid: Bidder submitted a total base bid of \$879,408.02, the correct amount is \$874,996.86.

Bid Abstract, Bid #1608 3/31/21

#### **DECATUR BOULEVARD / GRAND TETON DRIVE** TRAFFIC SIGNAL IMPROVEMENTS CITY OF NORTH LAS VEGAS **BID ABSTRACT** CIP. NO. 10507

BID NO. 1608 - LABOR COMMISSION NO. PWP CL-2020- 473 **BID DATE: MARCH 31, 2021** 

| \$1,500.00<br>\$897,980.00 | \$50.00      | Ξ    | \$1,362.30<br><b>\$874,996.86</b> | \$45.41      | \$750.00<br>\$537,020.00 | \$25.00             | DAY        | 30       | 670.05 VEHICLE PRESENCE ALERT SYSTEM  TOTAL BASE BID        |
|----------------------------|--------------|------|-----------------------------------|--------------|--------------------------|---------------------|------------|----------|---|
| \$2,850.00                 | \$95.00      | J    | \$2,724.60                        | \$90.82      | \$3,900.00               | \$130.00            | DAY        | 30       |   |
| \$1,350.00                 | \$45.00      |      | \$486.60                          | \$16.22      | \$900.00                 | \$30.00             | DAY        | 30       | 670.03 GPS LOCATED TRAFFIC CONTROL DEVICE                   |
| \$1,500.00                 | \$50.00      |      | \$1,751.40                        | \$58.38      | \$2,250.00               | \$75.00             | DAY        | 30       | 670.02 GPS ARROW BOARD                                      |
| \$3,000.00                 | \$100.00     |      | \$3,503.10                        | \$116.77     | \$2,550.00               | \$85.00             | DAY        | 30       | 670.01 PTZ CAMERA   |
| \$40,500.00                | \$40,500.00  | 7    | \$32,435.07                       | \$32,435.07  | \$7,500.00               | \$7,500.00          | S          | ۱ ـ      |   |
| \$1,520.00                 | \$4.00       |      | \$1,725.20                        | \$4.54       | \$1,520.00               | \$4.00              | EΑ         | 380      | 633.02 PAVEMENT MARKER                                      |
| \$1,000.00                 | \$4.00       |      | \$1,135.00                        | \$4.54       | \$1,500.00               | \$6.00              | EΑ         | 250      | 633.01 REFLECTIVE RAISED PAVEMENT MARKER                    |
| \$6,000.00                 | \$3,000.00   | G    | \$4,411.16                        | \$2,205.58   | \$2,400.00               | \$1,200.00          | EA         | 2        | 630.01 TO FINISH GRADE                                      |
| \$210.00                   | \$3.50       |      | \$233.40                          | \$3.89       | \$300.00                 | \$5.00              | SF         | 09       | 628.05 MEDIAN NOSE MARKINGS                                 |
| \$1,360.00                 | \$1.60       | )    | \$1,377.00                        | \$1.62       | \$2,550.00               | \$3.00              | LF         | 850      | 628.04 POLYUREA PAVEMENT MARKINGS                           |
| \$1,100.00                 | \$110.00     | )    | \$1,232.50                        | \$123.25     | \$2,250.00               | \$225.00            | EA         | 10       | 628.03 PERMANENT PAVEMENT MARKING FILM                      |
| \$6,650.00                 | \$7.00       | )    | \$7,704.50                        | \$8.11       | \$9,500.00               | \$10.00             | SF         | 950      | 628.02 PERMANENT PAVEMENT MARKING FILM (VARIES SOLID WHITE) |
| \$19,500.00                | \$15.00      |      | \$21,086.00                       | \$16.22      | \$15,600.00              | \$12.00             | LF         | 1,300    |   |
| \$388,000.00               | \$388,000.00 |      | \$461,975.28                      | \$461,975.28 |                          | \$250,000.00        | LS         | 1        | 623.01 TRAFFIC SIGNAL                                       |
| \$18,000.00                | \$20.00      |      | \$11,673.00                       | \$12.97      | \$9,000.00               | \$10.00             | SF         | 900      |   |
| \$11,250.00                | \$50.00      | ٦    | \$9,342.00                        | \$41.52      | \$6,750.00               | \$30.00             | 두          | 225      | _   |
| \$8,000.00                 | \$50.00      |      | \$9,964.80                        | \$62.28      | \$7,200.00               | \$45.00             | 듀 <u>-</u> | 160      |   |
| \$64 800 00                | \$8.00       |      | \$64 395 00                       | \$7 95       | \$48 600 00              | \$6.00              | SY         | 8 100    | 412 01 SLUBBY SEAL (TYPE II)                                |
| \$2,625.00                 | \$105.00     | 51   | \$2,899.75                        | \$115.99     | \$875.00                 | \$35.00             | SY         | 25       | 402.02 PLANTMIX BITUMINOUS SURFACE                          |
| \$27,500.00                | \$55.00      | )    | \$27,850.00                       | \$55.70      | \$20,000.00              | \$40.00             | YS         | 500      |   |
| \$41,250.00                | \$150.00     |      | \$24,260.50                       | \$88.22      | \$12,375.00              | \$45.00             | CY         | 275      |   |
| \$11.250.00                | \$15.00      |      | \$5,355.00                        | \$7.14       | \$1.500.00               | \$2.00              | SF 5       | 750      |   |
| \$5,000.00                 | \$5,000.00   | ~ (  | \$3.957.08                        | \$3.957.08   | \$2,000.00               | \$2,000.00          | LS         |          |   |
| \$840.00                   | \$40.00      | ~ [  | \$1,946.00                        | \$35.68      | \$1 575 00               | \$30.00             | ΠΔ         | 25       | 202.05 REMOVE CONCRETE BARRIER RAIL                         |
| \$450.00                   | \$30.00      | , _  | \$1,946.10                        | \$129.74     | \$375.00                 | \$25.00             | R 5        | 15       | 202.04 REMOVE CONCRETE ISLAND CURB                          |
| \$1,000.00                 | \$10.00      |      | \$1,946.00                        | \$19.46      | \$700.00                 | \$7.00              | 듀          | 100      | 202.03 REMOVE CURB AND GUTTER                               |
| \$2,400.00                 | \$8.00       |      | \$4,281.00                        | \$14.27      | \$900.00                 | \$3.00              | SF         | 300      | 202.02 REMOVE CONCRETE SIDEWALK                             |
| \$60,000.00                | \$60,000.00  | J 0. | \$14,658.06                       | \$14,658.06  | \$30,000.00              | \$30,000.00         | S C        | 550<br>1 | 200.01 MOBILIZATION   |
| \$700.00                   | \$1.40       |      | \$700.00                          | \$1.40       | \$700.00                 | \$1.40              | HR         | 500      |   |
| \$50,000.00                | \$50,000.00  | )    | \$50,000.00                       | \$50,000.00  | \$50,000.00              | \$50,000.00         | LS         | 1        | 109.01 CONSTRUCTION CONFLICTS AND ADDITIONAL WORK           |
| \$2,000.00                 | \$2,000.00   |      | \$2,000.00                        | \$2,000.00   | \$2,000.00               | \$2,000.00          | LS         | 1        |   |
| \$15,000.00                | \$15,000.00  |      | \$3,243.51                        | \$3,243.51   | \$5,000.00               | \$5,000.00          | LS         |          | 105.01 CONSTRUCTION STAKING                                 |
| 00 000 65\$                | <b>PRICE</b> |      | \$70 050 75                       | <b>PRICE</b> | \$30,000,00              | \$30,000,00         | 0          | _        | TBAEELO CON   |
| TOTAL PRICE                | TINU         | H    | TOTAL PRICE                       | TINU         | TOTAL PRICE              | UNIT PRICE          | TIND       | γΤρ      | ITEM DESCRIPTION  |
| ACME ELECTRIC              | ACME         |      | AMERICAN SOUTHWES                 | AMERICAL     | S ESTIMATE               | ENGINEER'S ESTIMATE |            |          |   |
|                            |              | 1    |                                   |              | !                        |                     | _          |          |   |

# BID ABSTRACT CITY OF NORTH LAS VEGAS TRAFFIC SIGNAL IMPROVEMENTS DECATUR BOULEVARD / GRAND TETON DRIVE

CIP. NO. 10507 BID NO. 1608 - LABOR COMMISSION NO. PWP CL-2020- 473

BID DATE: MARCH 31, 2021

|                                | ENGINEER'S ESTIMATE | AMERICAN SOUTHWEST   | ACME ELECTRIC                 |
|--------------------------------|---------------------|--|-------------------------------|
| Subcontractors: All Other Work | All Other Work      | American Southwest Electric                                  | ACME Electric                 |
|                                | Concrete            |  |                               |
|                                | Slurry Seal         | American Pavement Preservation American Pavement Preservatic | American Pavement Preservatic |
|                                | Striping            | Highway Striping & Signs                                     |                               |
|                                | Traffic Signal      | Fast Trac Electric   |                               |
|                                | Traffic Control     |  |                               |
|                                | Asphalt             | American Pavement Preservation                               |                               |
|                                | ac                  |  |                               |
|                                | Surveying           |  |                               |
|                                | Work Zone ITS       |  |                               |
|                                | Electrical          |  |                               |
|                                | Underground         |  | TAB Contractors               |
|                                |                     |  |                               |
| Suppliers: Concrete            | Concrete            | Cal Portland   | American Eagle                |
|                                | Asphalt             | Aggregate/LVP/Wells Cargo                                    | Wells Cargo                   |
|                                | Poles and Fixtures  | Ferguson/SW Traffic/Advanced                                 |                               |
|                                | Signal Gear         | Ferguson/SW Traffic/Advanced                                 |                               |
|                                | Striping            | Advanced/3M/Apex   |                               |
|                                | Olivery             | A compact of Monothers                                       |                               |

Page 4 of 4 Bid Abstract, Bid #1608 3/31/21